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QUESTION 1

What is the option to increase CPU resources for a virtual machine (VM)? 

A. decreases the CPU Share value on the VM. 

B. Move the VM into a different folder 

C. vMotion the VM to an ESXi host with greater CPU capacity. 

D. Add a vCPU to the VM using hot add where supported 

Correct Answer: A 

 

QUESTION 2

An administrator needs to gracefully reboot a virtual machine that has VMware Tools installed. What available power
state control will allow the administrator to perform the action? 

A. Restart Guest 

B. Shut Down Guest 

C. Suspend 

D. Reset 

Correct Answer: A 

 

QUESTION 3

What should be done if an administrator wants to use Storage DRS, but prevent it from performing balancing functions
automatically? 

A. Use manual mode in Storage DRS 

B. Use Storage vMotion 

C. Use automatic mode in Storage DRS 

D. Disable Storage DRS 

Correct Answer: A 

 

QUESTION 4

In what two ways can an administrator limit the amount of vSphere Replication bandwidth on a network carrying other
traffic? (Choose two.) 
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A. By configuring Traffic Shaping on the vmkernel port used for replication. 

B. By configuring vSphere Replication on separate network hardware. 

C. By using Network I/O Control 

D. By using Storage I/O Control 

Correct Answer: AC 

 

QUESTION 5

What is the unit of storage management when virtualizing storage using virtual volumes 

A. Raw device mapping 

B. Lun 

C. Vmfs datastore 

D. Virtual machine and its disk 

Correct Answer: D 

 

QUESTION 6

Which feature enables organizations to deploy virtual machines to multiple vSphere 6.x data centers? 

A. Long Distance vMotion 

B. Content Library 

C. Auto Deploy 

D. Replication 

Correct Answer: A 

 

QUESTION 7

What are two mam components of a vSphere virtual network? (Choose two.) 

A. Logical Router 

B. Distributed Virtual Switch 

C. Virtual Network Interface 

D. Distributed Firewall 

Correct Answer: BC 
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QUESTION 8

Which two methods are supported when installing a Guest Operating System on a virtual machine? (Choose two.) 

A. ISO image 

B. vSAN 

C. Preboot execution environment 

D. NFS Share 

Correct Answer: AC 

 

QUESTION 9

What are three ways Data Center Virtualization can be beneficial? (Choose three.) 

A. It decentralizes resource management 

B. It reduces application provisioning time. 

C. It increases hardware utilization. 

D. It enables the policy-based allocation of resources 

E. it reduces capital and operating costs. 

Correct Answer: CDE 

 

QUESTION 10

What are three benefits of Data Center Visualization? (Choose three.) 

A. adds unlimited network bandwidth 

B. has high application availability 

C. increases efficiency 

D. automates application discovery 

E. reduces capital and operating costs 

Correct Answer: BCE 

 

QUESTION 11

In which two ways is Storage DRS used in a vSphere implementation? (Choose two.) 
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A. It balances virtual machine workloads automatically across ESXi hosts in a cluster. 

B. It reclaims overprovisioned capacity to increase resource utilization. 

C. It keeps workloads on storage devices more evenly balanced. 

D. It monitors the storage habits of virtual machines. 

Correct Answer: CD 

 

QUESTION 12

A beverage company has a critical virtual machine running on vsphere . The virtual machine runs an application that
controls the customer automatic botting line. An outage of this virtual machines stops the line and results in enormous
costs for the business. The application is extremely old and does not support application level clustering . 

Which two vsphere features help reduce downtime for this critical virtual machine in case of esxi host failure? (Choose
two ) 

A. Vshield endpoint 

B. Fault tolerance 

C. High availability 

D. Cross-v center vmotion 

Correct Answer: BC 

 

 

QUESTION 13

What are two advantages of implementing Data Center Virtualization? (Choose two.) 

A. Unified resource management 

B. Automated provisioning 

C. Automated Disaster Recovery 

D. Unified application management 

Correct Answer: CD 

 

QUESTION 14

Which storage visualization technology can be used to mitigate the effects of latency during peak load periods? 

A. Storage I/O Control 
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B. Virtual SAN 

C. Virtual Volumes 

D. Distributed Resource Scheduler 

Correct Answer: A 

 

QUESTION 15

What is Fault Tolerance logging? 

A. The act of logging a failure in the primary virtual machine and transferring to the secondary virtual machine in an FT
pair 

B. The act of logging errors in data transfers between primary and secondary virtual machines in an FT pair. 

C. The act of logging runtime state changes made to the virtual machines in an FT pair. 

D. The act of transmitting runtime state information to the virtual machines in an FT pair. 

Correct Answer: A 
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